Math 50 — Prof. Beydler

1.5 — Practice

1. Simplify 18 — 6 - 2
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“\g-12
=(6)
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2. Simplify 7 — %
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q
= 1-"q

= 7-1

=[]

3. Simplify 3* = 5(8 —2) + 6 + (7 — 3)?

=3"-5(6) 6+ (D)
= gl -5(6)+6 t16
= g -30'-:'6+|é

4. Simplify V9 + 16 + 54 — 2[5 — 3(11 — 10)]
= (15 :5.4-205-30)
= (=54 -2[s5-3]
= 254 -]
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6. Where’s the mistake?

(2+3)2-V144
o)

=44+9-12

=13 -12

=1
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7. Find the average of 4, 3, 2,9, and 2.
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8. Find the median of4, 3, 2,9, and 2.

Correct
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Write /n orjer

2,234,

9. Find the median of 384, 103, 2043,

and 982. Write (n order
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